QUIZ

WHAT IS NET ZERQ?

Put the words from the table in the correct places in the sentences. Check by watching the video.

capture challenge

emissions global warming

greenhouse gases head start

megatons molecule

net zero sustainable
We release fifty-five 1. of 2. into the air every year.
To stop 3. , we have to get our 4. down to zero.

For every country to do this would be an enormous 5.

Some countries already have a 6. in this objective.

The meaning of 7. is that for every 8. of greenhouse gas that we put into
the air, we also take one out.

We also have to 9. greenhouse gases from the air and store them permanently.

Net zero is our best chance for a 10. future.

SOLUTIONS: 1. megatons - 2. greenhouse gases - 3. global warming - 4. emissions - 5. challenge - 6. head
start - 7. net zero - 8. molecule - 9. capture - 10. sustainable

VOCABE Retrouvez plus de quiz vidéo
sur www.vocable.fr




